AquT: Yuutenio no npegmeTy

>anaeBa Tamapa AnbbpycoBHa, 2023/2024 y4ye6HbIN roa, UcTopus

YcneBaemMocCTb 0

Knacc | Mepwuog Y4yeHukoB H Her g;ﬁﬁ”m %c);nee K/;q. ggl#
Ot | Xop | YA | Heya | ' | OCB |34 | H3 | 71 el e

1-9 yeTBepTb | 28 4 10 |14|0 0|0 0= 280= 10 3,64 100,0 | 50,0 |55,1¢

2-51 4eTBepThb | 28 2 13 (180 0|0 0= [0=0 3,61 100,0 | 53,57 | 53,5i

5a 3-9 yeTBepTH | 28 3 5) 19 |1 0|0 0 (0 |O 3,36 96,43 | 28,57 | 47,1¢
4-5 yetBepTb | 28 2 7é 16:[:3 0|0 051010 3,29 89,29 | 32,14 | 45,4¢

loa 28 3 6 190 0510 0:- 02510 3,43 100,0 | 32,14 | 48,8¢

1-9 yeTBepTb | 26 4 14 |7 |0 1) 0-.10.0 373 96,15 | 69,23 | 59,8°

2-51 yeTBepThb | 25 2 16=217-~. 10 0|0 0= ;053150 3,8 100,0 | 72,0 |59,0¢

56 3-5 YeTBepTb | 25 3 13 |9 |0 0 (0 0 (0 |O 3,76 100,0 | 64,0 |58,2¢
4-5 yetBepTb | 25 4 14 |6 |1 0|0 (B HoEE= ) 3,84 96,0 72,0 | 61,1%

lon 26 3 1627 =0 0|0 0::[0- |0 3,84 100,0 | 72,0 |60,4¢

1-9 yeTBepTb | 27 8 15 |4 {0 0|0 0 [0 |O 4,15 100,0 |85,19 | 70,5:

2-9 4yeTBepTb | 27 6 15 |6 |0 0O (0 0O (0 |O 4,0 100,0 | 77,78 | 65,7¢

5B 3-A YeTBepTH | 27 5 18=1e9= .0 010 0 |0 (O 3,85 100,0 | 66,67 | 61,3¢
4-5 veTBepTb | 27 5 10 2 0|0 010150 3,70 96,30 | 65,56 | 57,4¢

lon 27 7 1857 k0 0|0 00510 4,0 100,0 | 74,07 | 66,07

1-9 yeTBepTb | 29 5 i e 1) 0|0 0 |0 |O 3,93 100,0 |75,86 | 63,4¢

2-5 veTBepThb | 29 3 18+ 1130 0|0 0 020 3,66 100,0 | 55,17 | 55,17

5r 3-9 yeTBEpTH | 29 2 1111610 0|0 0000 3952 100,0 | 44,83 | 51,0¢
4-5 yeTBepThb | 29 3 9 17 |0 0|0 0 |0 |0 3,52 100,0 | 41,38 |51,3"

fon 29 3 555610 010 0==10=10 3,59 100,0 |48,28 | 53,2¢

1-9 yeTBepTb | 27 2 141850 110 Q00 3,44 96,30 | 48,15 | 51,07

2-5 yeTBepTb | 27 3 18 8|0 0|0 0 {0 |10 3,81 100,0 | 70,37 | 59,7(

5n 3-5 yeTBepTb | 27 2 14 |11 |0 010 O[O 2110 3,67 100,0 | 59,26 | 55,2¢
4-9 veTBepTb | 27 2 10 |14 |1 0|0 000 210 3,48 96,30 | 44,44 | 50,37

foa 27 2 14 [11]0 0|0 0510110 3,67 100,0 | 59,26 | 55,2¢

1-51 YyeTBepTH | 28 4 15 -9\ |0 0|0 0510 |0 3,82 100,0 | 67,86 | 60,1¢

2-51 veTBepThb | 28 3 18- 41010 0|0 0[O0 3,76 100,0 | 64,29 | 57,8¢

8-a 3-5 YyeTBepTh | 28 5 19218 =10 0|0 Qi 010 3,89 100,0 | 71,43 | 62,47
4-59 veTBepTH | 29 6 198711 0|0 0=iF0: =0 4,03 ' 96,55 | 86,21 | 66,9(

loa 29 6 19 |4 [0 0|0 Q=100 4,07 100,0 | 86,21 | 67,5¢

8-6 1-9 yeTBepThb | 29 7 14 |8 |0 0|0 Qg [0-7]6) 3,97 100,0 | 72,41 | 64,91
2-9 4eTBEPTHL | 29 4 12 |13]0 0 (0 0 |0 |0 3,69 100,0 | 55,17 | 56,4"

3-A yeTBepTb | 29 5 158 |1 0|0 0100 3,83 96,55 | 68,97 | 60,8
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1-i1 cemectp | 27 S0 0 00 10 oo 430 | 1000 [100,0]746
MA | 2-i cemectp |27 1047 oo e o oo 437 1000 |100,0 77,3
Fon 27 10 |17 |0 |0 (0.0 |0 o |0 437 [100,0 |100,0[77,3:
1-ii cemectp | 17 e to . o lo . o o o 429|100, |100,0|74,5¢
(ﬂé\aam 2. comectp | 17 6 | 10: [0m [0ew [ 0% 0 (0 [0 |0 435  [100,0 |100,0]76,7-
Fon 17 6 el 0 lom o oo 435  |1000 |100,0]76,7
1-i1 cemectp | 25 i e loele oo 1o Jo o 436 [1000 |92,0 |77,6¢
116 | 2- cemectp |25 10 |12 [3]o Jolo o |o |o 428  |100,0 | 88,0 |75,04
Fon 25 O o ot oo o e o o 428  [100,0 88,0 |75,0-
1-i1 cemectp | 11 sl o oo oo o 418 |100,0 |90,91]71,2i
2r11§aao) 2- cemecTp | 11 a6 1o oo iotloe 4,27 100,0 | 90,91 | 74 5¢
ron 11 2l o il vl 427 [100,0 | 90,9174 5:
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